Quiz 1
1. Microarray measurements are made on 4 patients of one type and 3 patients of a second type. Give the design matrix if the second column is to correspond to the difference between the second patient type and the first. Hint: the design matrix is that of a two sample t-test.

2. Microarray measurements were made on 3 patients before and after treatment. Give the design matrix if the first column of the design matrix is to correspond to the difference in expression due to treatment and if the y column is the transpose of (   y1(0),  y2(0),  y3(0),  y1(T),  y2(T), y3(T)  ) .  Hint: This set up controls for patient variation in initial gene expression values through 3 dummy parameters and is equivalent to a paired t-test with a different design matrix (trivially a single column of 3 ones) whereby the output vector is ( y1(T)-y1(0),  y2(T)- y2(0), y3(T)-y3(0)  ).

